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response which you want to mark on the Answer Sheet, In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
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Directions :

The following six (6) items consist of two
statements, Statement | and Statement II.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

fa) Both the statements are
individually true and
Statement Il is the correct
explanation of Statement |

(bj Both the statements are
individually true but
Statement Il is not the correct
explanation of Statement 1

fc) Statement [ is true but
Statement [l is false

(d) Statement | is false but
Statement II is true

1. Statement [ :

In Kelsen's view, there is no
difference between natural and

Jjuristic persons.
Statement I :

The totality of claims and duties is
the person in law.

2. Statement [ :
Person of inherence is the owner of
the right.
Statement II :

Inheritance is a means to
ownership.
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3. Statement | :

Possession is Nine Points in law.
Statement 11 :

Possession cannot be interfered
with by anyone except by the one
with a better title,

. Statement [ -

Subject to rules of jus cogens, local
customary law can supplement or
derogate from general custom.

Statement 11 :

International law does not
recognize the concept of local
custom,

. Statement [ :

A person, who moves to a place
nearer the place of nuisance, can
complain of nuisance.

Statement II :

Coming to the place of nuisance is
& good defence.

. Statement | :

In an action for malicious
prosecution, it must be proved
that the defendant had initiated
criminal proceeding maliciously
and without reasonable and
probable cause.

Statement IT :

Action for malicious prosecution is
instituted in a criminal court.
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7. The Supreme Court of India, in the
case of A. K. Gopalan vs. State of
Madras, decided that the
expression ‘procedure established
by law' in Article 21 of the
Constitution means “any procedure
prescribed by law, irrespective of
its reasonableness or otherwise”.
Which one of the following
approaches did the Supreme Court
follow in the above case?

(@) Positive law school approach
(b} Historical approach

(e) Sociological approach

(d) Philosophical approach

8. Consider the following statement
made by Sir Frederick Pollock :

If international law were only a kind
of morality, the framers of the State
Papers concemning foreign policy
would throw all their strength on
moral argument. But as a matter of
fact, this is not what they do, They
appeal not to the general feeling of
moral rightness, but to precedents,
to treaties and to opinions of
specialists

In which one of the following cases
is the above statement of Pollock
true?

(a] Developed countries

(b) Developing countries which
constitute Group of 77

{c) Socialist countries

(d) Developed countries, Socialist
countries and Group of 77
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9. Under which of the following
conditions, the right to claim
damages in tort would arise?

l-r

Lol B

Infringement of a legal right
Legal damage

Any damage

Existence of a legal right

Select the correct answer using the
code given below :

Code :

(a)
(b)
(c)
(d)

1 and 2 only
1, 2 and 4
1, 3 and 4

2 and 4 only

10. Which of the following is/are
inchoate crime(s)?

1
2
3.
4

Attempt to commit a crime
Criminal conspiracy

Theft

Murder

Select the correct answer using the
code given below :

Code :

(a)
()
(c)
(d)

1 and 4
1, 2 and 3
1 and 2 only

2 only
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11. Which of the following statements

with regard to contract is not
correct?

fa) The acceptance should be
made in the manner prescribed
in the proposal But a
departure from that manner
does not itself invalidate the
acceptance. A duty is cast on
the offeror to reject such
acceptance within reasonable
time and if he fails to do so, the
contract is clinched on him
and he becomes bound by the
acceptance

(b) An acceptance containing
additions, limitations or other
modifications shall amount to
rejection of the offer and shall
constitute a counter-offer

fc) It is not open to an offeror to
stipulate against an unwilling
offeree that latter's silence will
be regarded as equivalent to
acceptance. He cannot force
him to take a positive course of
action under penalty of being
contractually bound if he does
not

(d) An offeror would not be bound
by a contract, if the letter of
acceptance posted by the
offeree is lost in transit and
thus is not received by the
offeror
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12. Which of the following statements

with regard to financial emergency

in India is/are correct?

1. It is required to be approved
by both the Houses of the
Parliament within one month.

2. Once approved by both the
Houses of the Parliament, it
remains valid for six months.

3. Salary of any government
official including the Supreme

Court Judges can be reduced
during financial emergency.

4. During financial emergency,
the executive authority of the
Union shall extend to the
giving of directions to any State
to observe such canons of
financial propriety as may be
specified in the directions.

Select the correct answer using the
code given below :

Code :

faj 1,2, 3 and 4

(b) 1 and 4 only

fe) 3 and 4 only

(d) 3 only

13. Which one of the following is not

correct with reference to John
Austin’s Command Theory?

fa) Divine Law is law properly so-
called

(b) The law of honour is law
improperly so-called

fe] Laws of gravity are laws
properly so-called

(d] The laws set by fashion are
laws improperly so-called
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(a)
(b)
(c]

(d)

i

(a)
(b)
fc)
(d)

14, Treaty, generally speaking, binds
States, which are parties to the
treaty. A State becomes party to the
treaty by

signing the treaty
ratifying the treaty

enacting domestic legislation to
implement the treaty

enforcing the treaty by way of
conduct

15. Which of the following statements
are correct?

In tort, the duties are imposed
by law whereas in contract,
duties are undertaken by the
parties themselves.

In tort, the duty is towards the
world at large but in contract,
the duty is towards specific
individual or individuals.

In tort, damages are liquidated
but in contract, the damages
are unliquidated.

In tort, a person may be liable
for the wrongs committed by
others also but in contract, the
liability governs the parties to
the contract only.

Select the correct answer using the
code given below :

Code :

1, 2 and 4
1,2 and 3
2 and 4 only

1 and 4 only

N-DTQ-K-NCY/10A

16. Under Section 100 of the Indian
Penal Code, the right of private
defence of body extending to

causing death

is not available

against an assault

(a)

(b)

fe)

(d)

causing  apprehension of
grievous hurt

with intention of gratifying
unnatural lust

with intention of kidnapping or
abducting

with intention of robbery

17. Which of the following statements
is/are not correct?

II‘

Stranger to the contract cannot
sue in both English and Indian
Laws.

Stranger to the contract can
sue in both English and Indian
Laws.

Consideration can move from
promisee alone in English and
Indian Laws.

Consideration can move from
promisee or any other person
in Indian Law.

Select the correct answer using the
code given below :

Code :

fa)
(b)
(c)
(d)

1l and 3
2 and 3
1 and 4

2 only
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18. Consider the following statements
with regard to human rights bodies :

Charter-based bodies

1. hold broad human rights
mandates

2. address an unlimited audience

3. base their decision-making on

CONSEnsus

Which of the statements given
above is/are not correct?

faj 1,2 and 3

(b) 2 only
e} 1 and 3 only

(d) 3 only

19. Which of the following statements
regarding the Command Theory of
John Austin are correct?

1. Expression of a wish or a
desire by the commander is
essential but style of desire is
irrelevant.

2. Magnitude of the eventual evil
is irrelevant but slightest
chance of incurring slightest of
an evil is relevant.

3. Command and duty are
independent but not
correlative to each other.

4. Power and purpose of inflicting
evil are relevant.

N-DTQ-K-NCY/10A

10

Select the correct answer using the
code given below :

Code :

fa] 2 and 4 only
(b) 1,2 and 4
fe) 3 and 4

(d 1,2 and 3

20. According to Article 38(1) of the

Statute of the International Court
of Justice, which one of the

following is not a primary source
of International Law?

(a) International conventions

(b) Decisions of the International
Court of Justice

fe) International custom

(d) General principles of law

recognized by the civilized
nations

21. The liability for tort arises on

1. viclation of a right in rem

2. violation of a right in personam

3. breach of a legal duty

4. breach of an equitable
obligation

Select the correct answer using the
code given below :

Code :

(a) 1 only
() 1 and 3
fc) 2 and 3
(d) 3 and 4
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22. Which one of the following
statements about the UN Expert
Mechanism on the Rights of
Indigenous Peoples is not correct?

faj The Mechanism has been
created by the United Nations
Development Group

fb) 1t is a subsidiary expert
mechanism of the Human
Rights Council

fc) It provides thematic expertise
on the rights of indigenous
peoples to the Human Rights
Council

(d) The thematic expertise focuses
mainly on studies and research-
based advice

23. A proposal is not revoked by

(a) lapse of time prescribed in the
offer for its acceptance

(b) lapse of reasonable time,
without communication of
acceptance, if no time is
prescribed in the offer for its
acceptance

fe) death of the offeror even if the
offeree in ignorance of this
fact sends communication of
acceptance

(d) counter-offer
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Which one of the following
statements with regard to the

pardoning power of the Governor is
correct?

(a) The Governor can pardon the
death sentence

(b) The Governor has no power in
relation to death sentence

fe) The Governor can only
suspend or remit the death
sentence

f{d) The Governor can only
suspend, remit or commute
the death sentence

28. Which of the following are essential

tenets of Pure Theory of Law?

l. Legal system consists of
hierarchy of norms.

2. Legal system consists of ought
propositions.

3. All norms receive their validity
ultimately from a grundnorm.

4. Morality is vital for purity of
law.

Select the correct answer using the
code given below :

Code -

fa)l 1, 2 and 3
(b) 1, 3 and 4
fe) 2 and 3 only

fdl 1,2 and 4
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26, On which one of the following 28. X, an officer of a court of justice,

grounds, the International Court being ordered by that court
of Justice declined to accept to arrest A, and after making
Columbia's contention in the due enquiry, believing B to be A,
Asylum case regarding the arrests B. What is the criminal
existence of a local custom relating liability of X under the law?

to grant of diplomatic asylum?
fa) Liable for the offence of
(@) Short duration of State wrongful confinement of B
practice
(b} Not liable for any offence as he

(b) Lack of uniform and constant acted in good faith under

ushge mistake of fact, which is, a
fe) Lack of universality of State defence under Section 76 of
practice the IPC
(d) Opposition of powerful States (e) Not entitled to the benefit of
mistake of fact as he has not
27. Match List-I with List-Il and select acted in good faith
the correct answer using the code ) ’ )
given below the Lists : (d) Liable, because his act is a
mistake of law and not mistake
List-1 List-11 of fact
(Case) (Tort)
A. Donoghue vs. 1. Defamation

29. When a man advertises that he has

Stevenson stock of books to sell, he is making
B. Cassidy vs. Daily 2. Jeint tort
Mirror Newspaper feasors (a) an offer
C. Merryweather vs. 3. Negligence
Nixon (b) an invitation to offer
D. Bird vs. Jones 4, FHIEE, () a speciil offer
imprisonment
Code : (d) a standing offer
A D
(@ 4 1 {2: 3 30. Lack of locus standi is generally not
a bar for issuance of the writ of
‘) AN B C D
4 2 1 3 (a) Mandamus
@ A B ¢’ b (b) Quo warranto
3 2 1 4
fe) Certiorari
d A B C D
3 1 32+~ 4 (d) Prohibition
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@ A B C D 30. 91 F fwn A Fh 5 T ar
4 1 2 3 fom fir & Wit ffn = ®1 @e ft
) A B C D wn?
4 9 1 8 fa) THREH
€ A B C D (b) SR
3 2 1 4
@A B C D fat -
3 1 2 4 (d) wfy
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31. According to Sir Henry Maine,

through which of the following
instrumentalities do progressive
societies (unlike static societies)
proceed to develop law?

1. Codification and legislation

2. Royal commands, custom and
codification

3. Legal fiction

4. Equity and legislation

Select the correct answer using the
code given below :

Code :

fa) 1 and 3
() 2 and 4
fe) 4 only

(d) 3 and 4

32. On the issue of legality of the threat

or use of nuclear weapons, the
International Court of Justice in the
year 1996 advised that General
Assembly resolutions concerning
prohibition of the use of nuclear
Weapons

(a) establish opino juris necessary

for the existence of
international custom

(b) fall short of establishing opino
Jjuris for the existence of
international custom

(c) create political effects only

(d) create ethical effects only

N-DTQ-K-NCY/10A
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33. In the case of Indian Council for

Enviro-Legal Action vs. Union of
India, it was held that the rule laid
down in M. C. Mehta case was

(a) not a departure from the law
applied in Western countries

(b) an obiter dicta and was
appropriate and suited to
conditions prevailing in India

(c) not obiter dicta but was not
appropriate and suited to
conditions prevailing in India

(d)] not obiter dicta and was
appropriate and suited to
conditions prevailing in India

34. X instigates ¥ to murder Z. Y in

pursuance of the instigation stabs Z.
Z recovers from the wound.
Which one of the following is the
liability of X?

(a) Since essentials to constitute
an offence of abetment are not
fulfilled, X is not guilty of
instigating to commit murder

(b) Z is alive and hence X is not
guilty of instigating to commit
murder

fc) X is guilty of instigating Y
to commit murder even if Z
recovers and does not die

(d) Since death of Z does not
ensure, the eriminal lability, if
any, will be that of only ¥




S R e

31, W W 09 & sgen, el § @ 33, e wnfEe v wEmd-dee tEe

el & g wifaee waw (Rl FM A w9 & T § 9% shfuifa
aare & sraaE) fafy # fefm =0 87 e mn & wme de Www & aw #
1. wigame i Gum ot
2. W ey, wfe af it (a) wfinh Tt 3 T A aweh ff @
mﬁlﬂ% |
3. fafim s
(b) wH gedie B s wwa i femm
4. wwa o fuw ftfeufvdl 7 wfe sz §
R Ru g oW owEn woad Iw (c) w4 & ofE v A e
i . uftfeifeat # wnfeae aiv gedfee o
?
2 (d) FEofes - & st wma & fowm
i G aftfRafet & mafam sh aeifm B
) 23w 4
34, X, Y¥ ZH v =3 & fom 3w B
) e Y 35U ¥ SgE § Z 9 39T W
(d) 334 Rz % am dw B W 1 x Pkt
# 9§ fped forg 2t 27
32. Tfieflg @l & w@m @ @At f dgw F fa) X w1 % wifE w0 & frg 3wam
o W oad 1996 # Al =mww 3 w1 2t 7l @, wifE gEo %
goe & T TfrfE awi & wm & Ay i srarEEmast f i
wfAy & e e dwe g
(a) ¥da R ¥ AR F R (b) 2z P & sl s X wen ® i
aws fafidw £ @ (opino & & fom zam = anft i B

Jjuris) $ TG T
(c) =& zdr% & s & ain awdh geg

B iy R, ;"ﬁmﬁ T‘ e o A 2, B o, ¥R e s
sEwEs  fafiE opino
farie Y st ien § w9 & B swar & B xdd B
Fam AT gy (@) wifs z 1 7eg ghiem T 2,
9 TR R S i T
(d) FEe wErETE aftm e e Fae Y& @ 8
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35. Which of the following statements
is/are correct?

1. Counter-offer puts an end to
the original offer.

2. In counter-offer, the previous
offer can be revived.

3. Acceptance must be absolute
and unqualified.

4. Acceptance with new terms is
valid.

Select the correct answer using the
code given below :

Code :

fa) 1 only
{(b) 1 and 3
fe) 2 and 3
{d) 3 and 4

36. The original jurisdiction of the
Supreme Court is not attracted in
any dispute between

fa) the Government of India and
one or more States

{b) the Government of India and
any State or States on one side
and one or more States on the
other side

fc) the Government of India and
citizens or private bodies

{d) two or more States
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37. According to Roscoe Pound, which of

the following situations do/does
not depict conflict between
interests in the same plane?

1. Right to abortion of woman vs.
Right to life of child in the
womb

2. Right to privacy of AIDS patient
vs. Right to health of fiancée

3. Right to livelihood of prostitute
vs. Right of society to be free
from immoral surroundings

4. Right to self-determination vs.
Right to conjugal relations of a

spouse

Select the correct answer using the
code given below :

Code ;

fa) 3 only

(b) 3 and 4

fc) 1 and 2 only

(d) 1,2 and 3

38. International usage translates into

international custom only if

fa) followed by the States for a
long time

(b) consistently and wuniformly
followed by the States for a
long time

fe) uniformly followed by the
States with the belief that
States are bound to follow it

(d) States have the belief that they
are bound to follow the usage



35, frfefiaa # @ sh-m /8 Fu= od 2/87

1. wfa-weama qe wema 6 ogafi
2 R

2. vii-wema 4, ffed wwmm # @
yafda & g 81

3. wlimfa st s o od &
il

4, 0 P & g =hefa g 2y
A faw m gz w1 oW = owh W
kUL

e .

fa) FEA 1

(b) 133

c) 233

(d) 334

36. S = & et Fae 4 s e

#1 wnfis siftft sfda ot @ft?
(a) WA W 3 s 71 A T

(b) UH ¥R WA HEER 3 um @
yftw o9 s gah sim w =
wfte 31 Y

(c) wRa wER 3 i @ wEee
frwm

(d) = afus osw
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37. vl yvE F amEn, fefafes 4 2

w-d st/ sefEfal e @ F
feat & foira = Fafim = = B/87

1. & =1 mivm w03 = Aftwn aam
mi i #1 e w1 afiew

2. AIDS ¥ wWie & UH@Aal &
AR FW arEar w1 S &
wAfEn

3. dwm W Sfew w1 sften @
e w1 s wfeEm @ g e
w1 AGET

4. smm-fola =1 wfwr =m ofay
el % 2T fieel 1 arften

iR By o= w1 WM W oE@ Iw
b LS

e

(a) #ae 3

(b) 334
c) e 132
d) 1,23R3

38. s wyu dm e 4 FEe o

EECUECR Gl
(a) & TEE T TR FEG @R Qe
&1 =y

(b) F& T=AT T A GHY AR UREAH
3l wam Wifer it W

) == T=dl g W FAm ¥ wem
wFEHE e @ s re @
T T S AEE 8

(d) = u= g% fBawm v § e 3w
F UeH 0 F 9
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39. Which one of the following is the ratio
decidendi of the case of Rylands vs.
Fletcher?

{a) A person is liable if he brings
on his land some dangerous
thing

{b) The liability arises not because
there was any fault on the
person but because he kept
some dangerous thing on his
land

fc) Ewven if the defendant was not
negligent in causing the harm,
he could still be made liable
under the rule

(d) A person, who for his own
purposes brings on his lands
and keeps there anything
which is likely to do mischiefl
if it escapes, i8 prima focie
answerable for the damage
which is the natural conse-
quence of its escape

40. Consider the following statements :

1. The Preamble  of both
International Covenant on
Economic, Social and
Cultural Rights (ICESCR) and
International Covenant on Civil
and Political Rights (ICCPR)
recognize that all human rights
are interrelated, indivisible,
interdependent and equally
important.

2. ICCPR recognizes the principle
of Progressive Realization.

3. ICESCR is monitored by the
UN General Assembly.
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Which of the statements given
above is/are correct?

(a)
(b)
(c)
(d)

1, 2 and 3

1 only

2 and 3 only
1 and 3 only

41. A contract by post is concluded at
the place

fa)

(b}

fc)

(d)

from where the offer had been
made

from where the acceptance had
been posted

where the acceptance had been
received

where the goods are to be
delivered

42, Which one of the following
statements is correct with regard
to appointment of the Judges of
the Supreme Court of India?

(a)

(b)

(¢}

(d)

The Chief Justice of India (CJI)
should consult a collegium of
four seniormost judges of the
Bupreme Court

Even if two judges of the
collegijum give an adverse
opinion, the CJI should send
the recommendation to the
government

The opinion of the collegium
may be different from that
of the CJI

Every judge of the Supreme
Court is appointed by the CJI




39. f=fefigs § 8 F=-w queve F9m W
#F ar #1 FfRgg-amaw 27

fa) TE =afh, SN I g W EEE
g e ¥, ¥ @

(b) wfam wwlem =@ @ ga &
safw i #§ ZR R, fug wofen &
o ol i W e e @l
&

je) w& # afg s 6 fedt e @
wifa =& o ¥, W Faw & swla
FuF! fier oft fondien e @ v
2

(d) w§ =ufe S WA wRF wEeEl
o ot i s i T e e
wm & =t 4fg Free s @ fife =
sl 8, @ 28 =aft ok Fea 9=
A 89 Tyl ofom & w9 d

@ TFadt F fm owem gemn
Ieerd #

40, frafafas st w fan fif

1. =i anfds, wwfs
grpfos st o wElEe
(ICESCR) it sy amits ain
et sfisdd  w wElEE
(ICCPR) #i 3tfirw a8 w=ien woh
t & off o afmr wwew-
wafAE, sveE, -l @i
HHH ¥9 § wEEgl #)

2, ICCPR wmt sveife % frgra #
T = R

3. wWyw TE #I WEwwW ICESCR i
gftEiam =t B
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a1

T ! B A/ wh B/
(@) 1,233

(b) Faw 1

(c) %am 2 3l 3

(d) Fae 133

41, =% g dfaE e wm w Feafe w4

44

fa) wEl & wera fififa gan @

(b) e & whala 1 o § zen ™
(c) il e ww g o

(d) el w e i ag=mn e R

42. M@ & I=0H AEed ¥ g f

fafs & ait § foofafas 4 8 #¥w-w
U A wel 27

fa) W@ ® g WA N IEEH
ey & 9w gfs =

sftrerelt sl =1 ool S0 =feg

(b) =k ftremeh affa & @ =mmdt
3 wfrge T &, v & gen
=y # gEE W WA
=fey

fc) wftamdt wfafe % wa wma & e
=rwfd % wa @ fim 8 wwa R

(d) FEEH AT H T ARE WE

% e =i g Frges g @
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43. Consider the following paragraph
with regard to weakness of a theory
of possession and identify the
theory with the help of the code
given below :

It looks at possession from the point
of view of interdicts and therefore, it
is incapable of explaining the cases
where law refused ‘possessory
rights’ to the persons who were in
effective physical control. The cases
in which the persons did not look like
an owner fin relation to a thing) but
for certain purposes, law recognized
them to be in possession cannot be

explained by this theory.
Code :

(a) Savigny's theory
(b) Thering’s theory
fc)] Rousseau's theory
{(d)] Holland’s theory

44. Which one of the following principles
was applied by the Intemational
Court of Justice in the North Sea
Continental Shelf cases involving
disputes concerning delimitation
of continental shelves of Federal
Republic of Germany, Denmark and
the Netherlands?

fa) Equidistance principle which is
part of Geneva Convention on
Continental Shelf, 1958

(b) Proportionality criterion on the
basis of equity which is general
principle of law recognized by
civilized nations

fc) International customary law

(d) Equidistance and equitable
principles

N-DTQ-K-NCY/10A

45. Generally, tortuous liability has an

clement of fault to support it. In
which one of the following Acts,
recently a provision has been made
in India, which provides for meeting
claims arising both on the basis
of fault principle and no-fault
principle?

(a) Factories Act

(b) Motor Vehicles Act

fe) Workmen's Compensation Act

{d) Public Liability Insurance Act

46. Consider the following statements :

1. In the case of Mithu vs. State
of Punjab, the constitutional
validity of Section 303 of the
IPC was examined by the
Supreme Court of India and
held that this Section violates
Article 14 and Article 21 of
the Constitution,

2. Counsel for appellants/
petitioners in the above case
contended that Section 303 of
the IPC is arbitrary, because it
authorizes deprivation of life
by an unjust and unfair
procedure.

3. Section 303 of the IPC provides
punishment for culpable
homicide by causing death of
person other than the person
whose death was intended.

Which of the statements given
above is/are correct?

fa) 1 and 2 only
(b) 1 only

() 1,2 and 3
(d) 2 only
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43. Fea & fagra A st (fiwdw) & an

1 ferfafiga afede w fen $ifm s
= fBu m gz A were 8 W fagr
! gE=I

a7 #ed @ g & ghww @ e @
3N zafee 9w 39 awEl # =y §
srwef & il By 3 37 =feal  ‘Fe
¥ sfteni’ & A w0 R o
wyEt ifes Rgaw g1 o) T fed
=t @il #1 mE @ fad (e oy
¥ wf 4) forg v wawAl & for
Aft 3% #=3 &) wen ol 8, R
0 fagr=1 & =grem 78 #1 w1 w4

T

(a) &fd = R
(b) wEfm =1 fagra
fc) =& % faara
(@) e = R

44, Sz fofes wis oofl, 3wk ek

frerdve & e, werdda ez aqft &
il @ wEiaa fFEE ) s
w0 e 3ol arn werdd wwer g %
Tl § sl e 3 Fefafaa §
# firm ws fogra =1 e fen w7

fa) w9 T * foerm, s wewEdE
e i Fwas S s,
1958 @1 fewm B

(b) | W, W\ el gE we fafu
w wa fegee R, smaw W
SR HIEvE

fc) @FaEE wiewg &

(d) wue gl e wamyl faer
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45. WWRE: WTEE & A A R W o=

wfim #e @ S 3@ il W ¥
freferfian & @ frw o aifufiam 3 e
# 7@ @1 § 7 Ivew e o R A 3R
fgra of 33 fogra 391 & s w
I B At gt i gfd s 37

fa) wwEmn AtufEm

(b) wrE-am sfufEm

(o) i ufE sifafEm
(d) i T dar sifufan

46, Trefefias se=t w fmw $ifaw

1. YW $ Iwem =maem 3 iy T
YA TS & 9 # sy g
dgfen i ww 303 A wfaafe
v w1 i e s sifufeifa
frn & mw wm wfum ¥ sgede
14 3t srgsdz 21 #1 g wA
2

2. apftenfial/afedt &% qowefeen 3
g @z § wieame fean B vl
Tuz dfgm N 9w 303 WA R
wifF a Tafm 3 sgfa v
T s @ dfwa w0 B it
e B

3. wrdlg =vg @fkm ) 9w 303 4,
frm =fs 6 g wfm 3 =
s o 3md m o=fE R oy
ok stqufys wHa 29 & forg e
&1 wauH B

I FAT ° @ wE-E/a v /e
(a) Faw 132

(b) Fa 1

e 1,233

(d) W& 2
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47. Which one of the following
constitutes an offer?

(a) Display of goods with price
tags in a self-service shop

(b} Advertisement announcing a
reward of Rs 5,000 to any
person who would find the
missing dog of the advertiser

(c/ When a man advertises that he
has a stock of books to sell at a
flat rate of Rs 100 per book

(d) An auctioneer's announcement
that specified goods will be
sold by auction on a certain
day

48. Whenever the Constitution requires
the ‘satisfaction’ of the President for
the exercise of any power or
function by him, it means

{a) the personal satisfaction of the
President

fb] the satisfaction of the Council
of Ministers

(¢} the satisfaction of the Members
of the Parliament

(d} None of the above

49. Which of the following are theories of
punishment?

1. Pure theory
Deterrent theory
Declaratory theory
Expiatory theory
Retributive theory

S B
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Select the correct answer using the
code given below :

Code :

fa) 2 and S only
() 1,2 and 3
fc) 2 and 4 only

fd) 2,4 and 5

50. An executive action taken during

national emergency in violation of
Article 19 of the Constitation of
India

fa) can only be challenged during
the emergency

(b) can only be challenged after
the emergency is over

fe) cannot be challenged at all

(d) can be challenged during or
after the emergency

Under the Law Reform (Married
Women and Tort Feasors) Act, 1935,
the judgment against one tort
feasor shall

(a) be a bar to an action against
any other person

(b) not be a bar to an action
against any other person

(c)] create proportionate liability

fd) not create proportionate
liability




47. fafefigs & @ fem = @ v Rffa
e 87

(a) ¥E-HE1 gEA A dwa @ el
aeqd, wefifa @en

) Tmewat g w fEm 9ifE
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ar fedt =afte #1 5,000 ¥ =0
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I W 100 ¥ Wi gEw 6

Hye W W AEd & o g
=i R
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‘i’ & e s R, O e W= A
77

(a) Tgsfa $ Jufees gie
(b) whfreg $t gk

(c) wwg & waed & g
(d) Ivdew | A Fd Al

49, frefefian & & #-4 792 & fogm &7
1. 1% e
2. Fams foaara
3. e e
4, wfiufe faer
5. wftwemem fagm
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2 Ry g o W I
EELE

Fe:

fa)
(®)
fc)
(d)

50. TE™

e 2 3R S
1, 2 3 3
Faw 2 3 4
2, 48R 5

U % AWE WAg % afEuE #

sgede 19 & wfem # @ o
wATTeE S W

(@)

(b)

(c)

(d)

51. fafa

Hae F9E & WA A WEN =
ww &

AT WY & AWIH BN 9 E 30EY
o HF B

Foerge sney T # Hd

F9TE F IR 97 WU B9 9 Sa
A B

gurn  (farfe  =fkemd s

AFEEal) AuEE, 1935 % WA
et v sogersal # fawg fofa

(a)

(b}

(c)
(d)

el s =ufs % fasg sdand =1
94 B

el 3 =fs ¥ fawg wdandl &1
a9 7 7

sgfes =ifie % gom ®m
anurfes aftes & g il wm
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52. Which one of the

following

statements is correct?

(a)

(b)

(c)

(d)

An agreement is void unless it
is duly supported by adequate
consideration

In a valid contract, there can
be an oral promise to
compensate a person who has
already  voluntarily done
something for the promisor

Under Indian Law, considera-
tion need not move at the
desire of the promisor

Indian Law does not recognize
past consideration

53. Consider the following statements :

1

The President of India may be
removed from his office before
expiry of his term for violation
of the Constitution.

The  impeachment charge
against the President may be
preferred by either House of
the Parliament.

For the resolution of impeach-
ment, votes of two-third of the
Members of the House present
and voting are required.

Which of the statements given
above is/are correct?

(a)
(b
fc)
(d)

1 and 2
1l and 3
2and 3

1 only
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54. Which one of the following theories
is based on the principle that
punishment should be of such a
nature so as to prove deterrent not
only for the wrongdoer but also for
the society?

(@)

(b]

fc)

(d)

Preventive theory

Reformative theory

Retributive theory

None of the above

5§5. Which one of the following pairs is
correctly matched?

(a)

(b)

(c]

(d)

De facto : Irrevocable
recognition

De jure : Revocable
recognition

Constitutive : Recognition is a

formal acknowl-
edgement of an
existing fact

theory

Declaratory : A new State

theory exists indepen-
dent of
recognition




s2. frefafia § 4 $9-01 vs Fum wd@ #7

(@) FE T A R W ok 6 aw wwiv
wfewe & afaem: wafda = @

(b) et au wfam #, felt =afe =5,
fora®t A= % fow wwe € S
# g9 B R, uftvaw = fes 3=
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fc) vida fafy & anfm = e
# & ufws s=aEm 6 3= W
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53. F=fefias wet o famm $ifm

1. wWrd % tgafa @ dfaam & Igee
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3G U2 | TS A gEA B

2. wdfa ¥ fawa wwimm &1 awN
aag & 241 ° | fdft oft wm Em
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3. weEhEm & dwey & fow weq &
2)-firerd, vf@@ =i ma 23 I,
weElt F1 A SEITE B

Igde Al § B8R w5 /AT

(@) 1 302

fb) 133

() 233

(d) Fae 1
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54, Pefefee & @ ¥=-w = fogm W
frara w smafa @ % 2o 08 @=wg =
i1 =nfd =i 7 Fae Saswal & fu af@s
wre & o oft Frame fag w7

(a) Fram= foera

(b) g firar

fc) wREwETs fag=

(d) 39w ¥ @ F§ T8

55, ffafga # ¥ #=-m w gw gifea &7

(a) TEGA: WA : Al

) faftm: g . wiewweig

() wuew fagrn v feedl e

= &t =i
wfvrefrF 2
(d) WeEEE ;W A TS WA
faara # @ag faeme
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56. Which one of the following defences
did the defendants in the case of
Donoghue vs. Stevenson not plead?

(a)

(b)

(c)

(d)

The manufacturer did not owe
any duty of care towards the
consumer. of the ginger beer
which was gifted to her by her
friend

The plaintiff was a stranger to
the contract and therefore, her
action was not maintainable

The incident cannot be
prevented by the standard of

foresight of the reasonable
man

The ‘privity of contract policy’
be applicable and there
would be no liability of the
manufacturer

57. X intended to kill A but instead killed
Bwhom he had no intention to kill.
Under which doctrine is X liable for
the murder of B?

(a)

(b)

fc}

(d)

Doctrine of transfer of malice

Doctrine of extended malice

Doctrine of mens rea

Doctrine of
responsibility

diminished
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58. Which one of the

following

statements with regard to contract
is mot correct?

(a)

(b)

(c)

(d)

59. Which one of the

Performance of the conditions
of a proposal, or the accep-
tance of any consideration
for a reciprocal promise which
may be offered with a proposal,
is an acceptance of the
proposal

An agreement made without
consideration can be enforced
by law as contract if it is in
writing between parties
standing in near relationship
and is made on account of
natural love and affection

Every agreement in restraint of
the marriage of any person,
other than a minor, is void

An acceptance may be revoked
at any time before the
communication of the
acceptance is complete as
against the acceptor, but not
afterwards

following

statements is not correct?

(a)

(b)

fe)

(d)

Right to livelihood is an
integral facet of the Right to life

Natural justice is implicit in
Article 21

The Right to life includes the
Right to health

Right to go abroad is not a
Fundamental Right
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56. SN W Wawd a|] # wiaad A

fofafas 4 & e w wfeen =
sV 7t fEn?

(a) Tt fen farr ) sien & wf,
Wit 30 I@E fim 3 qwem d 4@ 6,
1 d@-tE & Wy W 9N T
Tt vl

b) @ dfam & fow w=afe 6 sl
Fafe Ius FgEeE 99 4 TE
2

fe) == ghegw =i 1 gEHHeE
F w5 U e s Rt B

(d) ‘Hfaerms ww AifaT @ EE R
i fomfen =1+ orfies = &

§7. X ® AW A & 94 & & @ fg

Id 797 WA B # 99 #= f e
au & el w8 WA A o
g & aidia X, B g & foe et
34

(a) T ¥ s = fagra

(b) Teremfta fagy =1 fag=

(c) s e = fagma

(d) wfaa swafia = e

N-DTQ-K-NCY/10A

58, #fag ¥ wal A fFafafa 4 8 -

U F Wl 87

(a) e i owa & e, T Gl g
aftll 791 & fo el sfowa
#! wiwfa st weE F |\ dw
o Al ¢, WA 6 e b

(b) wlewa & fam fn o s fafy
g0 dfag & wy § yafda R 0
el & AR 3z Fee oy 4 @R
e wewHl % dra fafea d @ ek
w3 ¥ Fwo B mn @

¢) Pt oft =fts (sees A fm) &
ffam % stw 4 e o W
Tt

d) et wwfa w1 ofedem Tw%

59. fFrafefam A7 & #-w % Fwm wh 4@

L4

(a) e 1 #fusn fia & sfuwn
w1 3fm e R

(b) Wefifs =ma sg=e 21 4 ffda ?

fe) e % s d wrEm W
st wifte #

(d) fagm s @ sAfEER ww g@
Fftrwr 7 R

[ 2 T0.




60. Which of the following is/are the

criticism(s) of analytical view of
custom?

1. A bulk of the customs is
non-litigious, and hence it does
not come before the courts
but the society regulates its
conduct in accordance with
them.

2. In most cases, customs are

recognized not with the

assumption that this
recognition gives them the
sanctity of law but with this
assumption that they are law
and they have been treated so.

3. Though there are some rules of
law which are, undoubtedly,
based on the commen
conviction of the people, the
majority of the rules are so
complicated and technical that
the common conviction might
never have thought of them.

Select the correct answer using the
code given below :

Code -

fa) 1,2 and 3

{(b) 1 and 2 only

fc 1 and 3 only

(d} 2 only

61. In case of State succession, which of

the following treaties do not pass
on to the new State?

fa) Boundary treaties
(b} Territorially grounded treaties

(e) Multilateral human rights
treaties

{d) Political treaties

N-DTQ-K-NCY/10A

62. The plaintiff was traveling in a bus

belonging to the State Road
Transport Corporation resting her
elbow on the windowsill. The bus
was moving on the highway outside
the town area. A truck coming from
the opposite direction hit her elbow
as a result of which she received
severe injuries. The bus and the
truck, however, did not come in
contact with each other. The
plaintiff claimed damages against
the drivers of the bus as well as the
truck. On which one of the following
grounds were the defendants held
liable, if any?

fa) The drivers of both the bus and
the truck owed a duty of care
for the safety of the plaintifl
while driving

(b) Presumption of negligence
can be raised by applying the
maxim res ipsa loguitur

(¢} Law of negligence be equally
applicable in crowded city as
well as in the highways

(d} Mo liability, as she was resting
her elbow on the windowsill

63. A digs a pit and leaves four deadly

and poisonous snakes into it with

the intention of causing death to

others. B falls in the pit and is

bitten by a snake and dies. A is

guilty, if any, of

fa) culpable homicide not
amounting to murder under
Section 299

(b) voluntarily causing grievous
hurt under Section 326

(e} murder under Section 300

(d) no offence as Bfell in the pit by
accident. Hence, A will get the
benefit of Section 80 of the IPC




60, fr=fafiaa # @ #F-m/8 wfg i Twf=

gfe 1 arreiran /serETd #/87

1. siftin wfgat an-dva T § sie
safer, 3 e # 7 o & feg
WA W9 S AR
fafafim = 1

2. wfuswmm e # wfeat @ awm 5
T 7 7 o R 18w
fafy o ofaman wem =t @ Feg
uron & a4 fafy € e o2
gelt wan swaga Fem man R

3. =zofi fafe & 3o 1@ Fem € =
waf &9 ¥ S S " gron
m aufe 8, st fam w@
wifee o qe-ht § fn s gron
% 91 1wt 9t de wdh @

I Ry gz W w@m w o I
g ;

Fe

@ 1,233

(b) Faw 1 3 2

(c) #aw 13w 3

(d) Fae 2

61. U= IoEd & uma 8, Fefafiaa dfm

i@ am-dt w oosw N eEaiE ol
il

fa) et wftl

(b) TRt smarfe wfeat
(c) waguefty wrra it witaf
(d) TraAfae aftel

N-DTQ-K-NCY/10A
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62. 91 T wes ufEgd Frm 6 s 5w A

fagh i fom w Tl w0 T W=
W | 78 TR g7 | wTe TewEn W T
@ ot e A R @ e R w2
gl Feh o zew url ol 3@ i
gft gf) awf a8 v 25w wmw A
weryl Tl g @1 A A A F v Wy
fl 78 & W F fasg g = aE
e Pafefiss 4 @ e o smam w
uiafed &1, af fRh ®, TE@ FE
™t

(a) 8 3 TH 2T F IrEER F, A
T W, 9@ ) gan & fou
SE-TE w w0

(b) T ) g, T ™ A g
w1 AT HAA §Y, IATE o wehdl B

fe) 3 = Fram sftg W owme af we
# TEmrl W anE w9 A AR

(d) #§ afe wf R wife 3 s
Heh Raedt ) fire 90 vl of

63. A3 gEl # WRT F AW ¥ U TH w@E

v 3af wr ges N selte el e

fau) B # fim mn 3 @i & == @

WO B A, At R @, s few

87

o) w299 ¥ gen f w2 § 7 am
e AT qEE 9y

() uwm 326 # w=wr A un Il
it

fc) ®WT 300 H wEw

(d) T e & 9@, i B gden
# g & finomn @) e A
Wie go Ho #I YW 80 F1 #Y A
|

| P.T. O.




64.

Which one of the following
statements with regard to factors
vitiating consent is correct?

fa) A person is deemed to be in a
position to dominate the will of
another where he stands in a
fiduciary relation to the other

fb) Where a person who is in a
position to dominate the will of
another enters into a contract
with him, the burden of
proving that such consent
was not induced by undue
influence would always be
upon the person in a position
to dominate the will of the
other

fc) Parents shall always be
deemed to be in a position to
dominate the will of their
children

(d) Presumption of undue
influence would always arise
when parties are nearly related
to each other

The ambit of the expression law’
as defined in Article 13(3)(a) of
the Constitution of India ensures
that the paramountcy of the
Constitution extends to the

1. temporary laws such as
ordinances, notification as
well as permanent laws such
as Acts

2. statutory  instruments in
the mnature of subordinate
legislation such as bye-law,
rule, etc

3. non-legislative sources of law,
e.g., custom or usage having in
the territory of India the force
of law

N-DTQ-K-NCY/10A

Select the correct answer using the
code given below :

Code :

fa) 1,2 and 3
(6) 1 and 2 only
fe) 2 and 3 only
(d] 1 and 3 only

66. Which one of the following pairs is

correctly matched in order to form
a jural opposite in the analysis of
‘Right' given by W. N. Hohfeld?

fa) Claim :  Duty

(b) Power Disability
fe) Immunity Disability
(d) Privilege No right

67. Which of the following are correct

according to Constitutive Theory of

Recognition?

1. Recognition is a key to member-
ship of the international
community.

2. It is constitutive of a new
international legal personality.

3. States are under a legal
obligation to grant recognition
to a newly emerging State.

4. Recognition clothes the
government of the recognized
State with autherity and
opportunity to conduct
international relations.

Select the correct answer using the
code given below :

Code :

faj] 1, 2 and 4

fb) 1 and 2 only

fc/ 2 and 4 only

(d} 1,3 and 4




64, TR F A FA T@ FH F w i

frfafa # /@ #9-w 1% Faa ad B7

(a) 1§ =afE gt & oo % it
w0 6 e § wn e @ el T
T ¥ Aurfees wrawy | w R

) & w§ =RE g B T A
e =@ & AR § @
% Wy G wa &, @ 98 gl
0 # wR TR aefa amag e
3 zafw 4l g, ¥ 3w =it W
aim St gE A o W sfnfiE
wa  feufa 2

(c) wfimEs wm s 7= A e
= fumfie = 6 f@f 3 .
w &

(d) 9@ UEEN UH-GE F AEH
et ®, @ sEeEs s H
oo whEn de Bt

65, W@ & HAYE ¥ IgedE 13(3)(a) # 791

ufonfen ‘fafy’ & sfefs f ofd
gfifira =l @ & dfawm $i e =
e

1. st fafidi 3@ f& ey,
aftrge, sft wme @), el faftet
¥ 5 wfufam 7 2

2. W fomd, st srdey faaee &
= % § W & wfaf, Faw
afeas 8

3. sfyund fafa & g9, 30 & aw &
TsgE 1 By = 9= @ Tl sk
T W 7 B
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4R fu w Tz = W@ W ol IW
g :

kT3

fa) 1,233

(b) ¥am 1 3w 2

(c) @ 2 33

(d) #Fae 133

66. T&Ygo TAo Fihes g fiw my "t &

farsemm # faftenifs faid @@ & w0
# feffen # @ ¥9-0 @ W gAkm
¥

fa) =MEI . F

(b) wfes . T

(c) 3w . Tt

d) Frirfurr . =H sfter Tl

67. W & wuzF MU F HgEW

Freffas @ & =9-8 w6 37

1, W AP e e
form 7 R

2. 4% Ju sy fafiw =feea =
oz B

3. ¥ snfifa o= St AR EE 6
¥ foru vsa faftrs areandi B

4, UEEE WA T # WER &
spmid wrae] &1 HaEeH S W
yifterr 3 3@ 2 3

fa fir T oE W oWEm W OEH IW

i -

2 :

f@ 1,234

[b) a1 32

fc) a2 3 4

d 1,334

[P.T.O.




68, Which one of the following
statements illustrates the principle

of Contributory Negligence?

fa) The plaintiff by his own want of
care contributes to the damage
caused by the negligence or
wrongful conduct of the
defendant

(b) To be guilty of contributory
negligence, the plaintiff should
have acted like a prudent man

fe)} A person who comes to court
must come with clean hands

([d) The  plaintiff's negligence
means breach of duty towards
defendant

69. Which one of the following is not an
element of theft?

(a) Dishonest intention to take
movable property

(b) Moving of movable property
with dishonest intention to

take it out of the possession of
another person

fc) Dishonest inducement to
deliver movable property

fd) Moving of movable property in
order to accomplish the taking
of it without the consent of the
possessor

N-DTQ-K-NCY/10A

70. Which one of the following

agreements is induced by undue
influence?

fa) A applies to a banker for loan
at a time when there is
stringency in the money
market. The banker declines to
make the loan except at an
unusually high rate of interest.
A accepts the loan on these
terms

(b) A, enfeebled by disease or age,
is induced by B's influence over
him as his medical attendant,
to agree to pay B an
unreasonable sum for his
professional services

fe) A at the age of sixty-five years,
executes a deed of gift in
favour of his only grandson
gifting him all his properties to
the exclusion of his wife, sons
and daughters

(d) B, a rich man, donates all his
properties to a charitable trust
leaving nothing for himself and
his family members

71. In which one of the following cases

was it observed that the objectives
specified in the Preamble contain
the basic structure of our
Constitution, which eannot be
amended in exercise of the
power under Article 368 of the
Constitution?

(@) Kesavananda Bharati vs. State
of Kerala

fb) Lingappa VS, State of
Maharashtra

fc) D.S. Nakara vs. Union of India

(d) Amar Singh wvs. State of
Rajasthan




—_—

68, Frafafas # @ #+9-01 F F97 gvEr
a1 % fagra # =t &7

‘o) A FE wEwEd ¥ W@ @
yiard ) e @ wEW wE @
Fifta go 3 A e @

(b) wrrert T & fag o B & o
arét %1 =ifey @ & wIEw = 6
e SERH w0

(c) =meE # WM AW = w
AR B ATETE

d) T gm f T W = o R
T ) A Hdeg w9 A

69. Fr=faafigs @ & #-m it &1 a=
Tt 27

(a) W wEfy ® A A F AW

T

(b) Hwm s @ Tl g = fw &
Faa # A s 7ty g

(c) wm weafn 1 gfew w0 F fog
AT | Faifta =

(d) Fwstar @ grfa & e s aefi
1 @ o & fow @
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70, Frafafan # & #9-9 6 WR FEAE

et § Ieafa #7

(@ A el d @ W@ W d o F
fore e W § 9@ qE A A
@f B #, @M w9 A 3=
=g & fam, IUR & | 5 W=
T 2 A T Tl W IR EiER W
o 2

(b) A, T A I F H HAEH
i W e s S0l BS
i A e @ g 3 B &
sl wEEfE f F w9 W
st Uf 1 e 9§ for
HEAG @ =l R

(c) AT ad$ 3 A A e O
¥ ug #, s weh, 99 i afeat
| wuaEted w6 gL, A W
wufidl % 2@ = faeae fenfa
= 2

d) % wft =fs B w wft sl
#, st a3l s\ ofEn & v
¥ forw 5w +ft 7 iea gu, el od
=TH H) TH 2 8

71. fnafafias § @ frg s am § 2 e

frm w6 sfiew 7 R s e
wfaam & InuToE w=EY F Fatae w1
§ R dfam ¥ ogeas 368 &
sp=ta 4 € wifte % sman W weeE
T = wea?

(a) FIEF= A W FE T
(b) e T HEwE TN
fc) Flo THo T FHH WG H

(d) 0 g A USRaE T

|P.T.O.




T2. If the sum fixed represents a genuine
pre-estimate of the probable
damages that are likely to result
from a breach of contract, it is
considered as
fa) liquidated damages
(6] penal damages
(c) special damages
(d} general damages

73. The Charter of the United Nations
(@) enumerates human rights
(b) imposes obligation on States to
promote human rights

fe) contains mechanisms to
implement human rights

d} imposes obligation on States
to protect human rights
enumerated therein

74. Identify the situations where slander
is actionable per se under the
English law of tort :

1. Imputation of criminal offence
to the plaintiff

2. Imputation of belonging to the
lower caste

3. Imputation of a contagious or
infectious disease

4. Imputation of unchastity or
adultery to any woman

Select the correct answer using the

code given below :

Code :

fa) 2, 3 and 4

() 1,3 and 4

fe/ 1 and 4 only

fd) 1 and 3 only

N-DTQ-K-NCY/10A

75. W, who had her small baby tied on

her back, was proceeding towards
her parental place who lived
nearby. Since her husband H, did
not like her visits to her parental
place prevented her from
proceeding further and directed her
to return her home and threatened
her with dire consequences if she
ventured to do so again. She felt
very depressed and decided to jump
into a well nearby. Unmindful of the
presence of her child on her back,
she jumped into the well. She
survived but the child died. W is
guilty of

fa] murder

(b) culpable homicide not
amounting to murder as she
cannot be attributed with
intention to cause death or
intention to cause bodily injury

fe) causing death by rash or
negligent act

{d) no offence as it is a case of
accident or misfortune

T6. A's wallet falls out of his pocket

unknown to him. B, who sees this,

picks up the same. On finding that

the wallet contained Rs 2,000, B

uses the money for his own

purposes. After twelve hours, B

puts Rs 2,000 back in the wallet

and returns the same to A B is

(a) not guilty of any offence

(b) guilty of criminal misappro-
priations of property

fc/ mnot guilty of criminal mis-
appropriation as B returns the
money and the wallet to A after
twelve hours

(d) guilty of theft as B has caused

wrongful loss to A for twelve
hours




72. s fawita geofn dfae & s @9 8 @
qEl WEwE  JEEE & drediE
HO-IIA N SURIA wA §, 0w
(a) uftfufia g &

(b) MfEs THe™ B
(c) ot g B
(d) @ T

73. Hgw TY F AR
(@) wra MRl ) it w5t R

(b) T W, WA wwn i shala
w0 it e w st w5

(c) wHE fawr w1 wEifET S R
frnfafis %t srafde w2

(d) T g, IEH i g st
F HEW wE A oA W
sttt e @

74. 31 R # vgafn @ awgw 6
st fafr % s smA-ae w9 A

# g R
1. 9@ W woauE e W
Y

fraeht snfa & #1711 ey
. wrafifaE a1 dEwE T S
4, Tt wfgen w sferwem @ s
1 ST
3 fu oM oFe W oW W oEf 3w
g :
F2 :
(@ 2,334
b) 1,3 #H4
(c) Faw 1 3% 4
d) Faa 1 33
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a7

75, W, faudi diz w35 Sta =0 du 47,

W ANEE E el - & wmon

"t | 5T b

(c) ImaEews @ Wan # fey o @
T g FfE F

(d) +1¢ s 7@, FifE a8 g W
g =1 e R

76. A ¥ @A W A4 W WE IFEH A

amy fw w1 B, el 3=, 3@ @

feran| Wy v T wge # 2,000 ¥ E,

B 1% v 1 AW wWeA F g

a2 forn) ane 9vel & wed B

agu # 2,000 §93 a9H @ Al W A

et famn B

(a) T sraow % form 2nft df 2

(b) weafw % s AR = 2
[

o) wufes gRfEm & O wd R
it B @ 3l gy F awg @il
% quT A e q@ R

(d) = % fore 2eft ® wifs B3 A =
e uvd F fo wam wift wifa H
2

[P.T.O.




77. Which one of the following
agreements is not void?

fa) A agrees with B to discover
treasure by magic

b} A agrees to sell B ‘hundred
tons of oil’ without specifying
in any manner what kind of oil
was intended

(e} The plaintiff and the defendant
were rival shopkeepers in
a locality in Kolkata. The
defendant agrees to pay a sum
of money to the plaintiff if he
would close his business in
that locality. The plaintiff
accordingly did so, but
defendant refused to pay

(d) A at his own volition agrees to
sell his horse worth Rs 10,000
to B for Rs 10 only

78. Which one of the following
statements regarding secularism is
not correct?

(a) ‘Secular republic’ implies a
republic in which there is
equal respect for all religions

() It was decided in the
S. R. Bommai vs. Union of
India case that secularism is
a Dbasic feature of the
Constitution of India

fc) In the case of Bal Patil vs.
Union of India, it was held that
the concept of secularism is
that the ‘State’ will have no
religion

(d) The word ‘secular’ was
introduced under the
Constitution 44th Amendment

N-DTQ-K-NCY/10A

79. Consider the following statements
with regard to the UN Committee on
the Rights of the Child :

1.

The Committee is a body of
independent  experts that
monitors implementation of
the Convention on the Rights
of the Child by its State
parties.

All State parties are obliged to
submit regular reports to the
Committee on how the Rights
are being implemented.

The Committee considers
individual  complaints  of
violation of Child Rights.

Which of the statements given
above is/are correct?

(@)
(b)
fc)

(d)

1, 2 and 3
1 and 3 only
2 only

1 and 2 only

80. What is the exception to wbi jus, ibi
remedium ?

fal

(b}

fc)

(d)

Imperfect right
Equitable right
Proprietary right

Corporeal right



77. frafafaa § @ *9-w @ =R g2
27

(@) A, B% §m, 9 & G9W 6 @&
& fore wemd & 2

b) A, B® ‘@@ ¥, o Of
4 e faffe e o & sm
fra R & o9 W B, =R & o
Hewd g #

(c) awt 3l wiad wemm i e
aedft # witel gwEEn 4 wfeEr,
T 1 FE w0 wWw A W@
weda o ¢ B 9w 3o | | s
SR &4 H 3| A T TEFER T
forn, g 7@ it 3 WA wA
# g#n W fam

d) A, FFh W= A, A
10,000 ¥ Y& ¥ gl B W
Faa 10 ¥ # 491 & fo wem
LG

78, wifmigm & ant §, fFrafefae & @
F1-|1 G H9A 7 T 27

fa) ‘odfmiE s @ AW A
ey | 8, Faad ot uel & g
A AR R

(b) THe WWo AMWE FAW MWA €9 &
ar # = Rffim g
e wra % dfEum i ogE
farfame #

fc) el Uifes @ ¥RA €Y & 9% A
ae wifwfife gen e wiFcem
# wwer 7 @ v’ W o
o 7 #m

(d) “wifmy’ = GRuE % S
wYA # gt e
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79. Ty % sftewt w ugw wy wfifa & o §
Frefafas waai w fmm i

1.

gty wwa it = 0w P B,
3 fimy ¥ st w s ¥,
E TSIEEE W SEEE W,
aftaftero @t 31

oft gewwn W A wm &
wfer & a5 o
w &, wfify # Prafie il 9= &
fory amen &)

afufe firg wimm & g A
Yafers firmat o fmm w6 20

e wodl § A Fa-w/3 w9 B/

f@ 1,233

(b) FE@ 1 3w 3

fc)

Fam 2

(d) Faw 1 3w 2

80. &l sfimn 8, a8 IvEW ot #, F F9ER
w1 87

fa) A ATTEFERT

(b) ameTget srfumR

fc)

wrgfas s

d) ¥d sfiwn

| PiT. O.




81. Consider the following statements :

1. The Judges of the International
Court of Justice are elected by
the General Assembly and
Security Council for a period of
nine years.

2., India is not a party to
the Optional Protocol | of
International Covenant on Civil
and Political Rights, 1966.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

¢/ Both 1 and 2
{d] Neither 1 nor 2

82. Which one of the following has mo
locus standi to seek advisory
opinion of the International Court
of Justice on the issue of use of
nuclear weapons by a State?
fa) The General Assembly of the
United Nations

(b) The United Nations Security
Council

fc) State which is a member of the
United Nations

(d) The Human Rights Council

after obtaining authorization of
the General Assembly

83. Which of the following are essential
elements of the defence of fair
comment in the tort of defamation?

The matter commented on must be
1. of public interest

2. an assertion of fact

3. an expression of opinion

4. fair
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Select the correct answer using the
code given below :

Code :

fa) 1 and 2
fb) 1, 3 and 4
fe} 3 and 4 only

(d) 2,3 and 4

84. Five named accused persons A, B3,

C, D and E are prosecuted for
committing dacoity. The prosecution
proves beyond reasonable doubt
the participation of A, B and C in
the crime but fails to do the same
about D and E. A, B and C are
convicted while D and E are
acquitted. Which one of the
following is correct?

(a) Conviction of A, B and C is
good in law as there were five
participants in all in the crime

fb) Conviction of A, Band Cis bad
in law as for dacoity a

minimum of five persons are
required

fe} Conviction of A, B and C is
good in law, because conviction
of at least five persons for
dacoity is not the legal
requirement

(d) Conviction of A, Band Cis bad
in law as in case of named
accused less than five persons
cannot be convicted for dacoity
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81. F=fefiaa wuat w fa=m Hifem .

1. O e & = w5
frafem wemw @ g uieg go
A aul # a7ty F fo @m R

2. wna, fufm i oedifis st
T aUYE  weieeEr, 1966 F
F5feus TOEE | F UH GEER T
2l

g sl § @ SA-u1/8 e 8/E7

(@) Fa& 1

(b) #A# 2

fe) 1 322

[d) ad1amad2

82, fFrferfian # @ frm v & ww, Fredlt o
a0 A st & W ¥ g W,
st e € wemEwd W A
1 #1E rfirm 7 37

{a) HYEH Y HEET
(b) Ew Ty g qftug
(c) AT E T FE HIA TH

(d) wafuwr  ofg, WEEM w
iR S % T

83, WAET & g # fw dw-feowht
wftan &, Frafefaa # 4 ¥9-8 sfed

e #7
Frem-Frooft foman man Fom

1. eiiea 1 g A R

2. W F WEEE B =i
3. a4 wfiefs o @ =ty
4. 3w o @ =gy
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9 fog om oge W owm W Al IW
g

L T

fa) 132
b) 1, 34
c) Faa 3 34
d 2,334

84, i 7fim sfimgs =afs A, B, C, D 3l

E 2% w01 % o afmifem feg mo §)
s v g A, B C
1 s § wrfierdt fog @ 2w ® g
p #w E & ant § T w0 # fawa @
%1 A, B 3n C fogem o &, s@is
D ¥ E dmyw g & Prafafem § @
- T 87

@ A, B3 c = fagd zeon R
wgEn @@ ¥ Wi aww # g
uia wriEr §

(b) A, B3 c = fogdn s faf
gER Ted & FEiE  S%dl A
wu-0-w9 vt =feedl w1 @
A B

(¢) A, B3 c = fugdm s fafy
sar. wd ® wih %A & foau
w0-8-%y ofg =afwal ® faeEm
e fafts sEvrma 7 2

d A, B3 c % fagdm sgon ffb
aan e @ s i wiee
& wme # e%dt ¥ foag ofs @ @
=t 1 foesm @ g =
el
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85. Which one

of the following

statements is not correct?

fa)

(b)
fc)

(d)

All illegal agreements are void
but all void agreements are not
necessarily illegal

A wagering agreement is void
but not illegal

An agreement with a minor is
void but not illegal

A void agreement affects the
performance of collateral
transactions

86. In which one of the following cases
was it held that a law made under
Article 368 would be subject to
Article 13(2) like any other law?

(a)
(b)

fc)
(d)

Shankari Prasad vs. Union of
India

Sajjan Singh wvs. State of
Rajasthan
Golak Nath vs. State of Punjab

Minerva Mills Ltd. vs. Union of
India

87. Match List-l with List-II and select
the correct answer using the code
given below the Lists :

List-I List-IT
(Type of right) (Mlustration)
A. Right in re 1. Right to
aliena reputation

B. Right in rem 2. Right to alimony

C. Imperfect right
D. Personal right 4.

ol

Encumbrance

Debt claim

beyond the
limitation peried

N-DTQ-K-NCY/10A

Code !

f@d A B ©''D
2 4 1 3

B A B C D
3 4 2| 2

fe) A B C D
2 1 4 3

fdl A B C D
3 1 4 2

88. In which of the following situations

communication treated as

published and defamatory?

ll

Dictating a letter to one's
typist containing defamatory
statement about another

Sending a defamatory letter to
the plaintiff in a language
supposed to be known to the
plaintiff

The husband writing a letter
to his wife containing
some defamatory aspersions
concerning her father

When a libelous letter
addressed to the plaintiff is,
in the ordinary course of
business, opened by his clerk

Select the correct answer using the
code given below :

Code :

(a)
(b)

1, 2 and 4
1, 3 and 4

fc) 3 and 4 only
(d/ 1 and 3 only




85. fy=ferfias 8 @ ®9-91 @ 91 w8 T

27

fa) @t 313y = = & feg wh
F IEEE e w3y @

(b) e FR YA ¢ g A

(c) wETES % wna T o d
formg wvltw el

(d) ¥ N g Rl %
HPITEA 1 WHITad O 8

g6. frafiafizs # @ fow ws am ¥ =
sfufaifa fen v & sgsd 368 &
ad fiffe =i fafu Rl off o= fafy
#il 7 Feee 13(2) & s grfi?
(a) i WETE S HEd GY
(b) "= g aam TIEE T
(c) e e THH Y9E TH
d) Toal fiew oo aam www €9

87. §Hi-1 # -1 ® gifem i aw

giwl % 49 Ry 1 g2 ®1 W = oEd
Eﬂi‘gﬁ'li:
-1 -1
(srftrm =1 wwr) ()
A. in re aliena 1. wfee 1 i
wftm
B. wdaH! AR 2. fEfe=m =
D E i

C. =l sferwn 3. fagm

D. =t wftsn 4, gl s|fy %
AT T I EE
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(a)

(b)

(c)

(d)

A B C D
2 4 1 3
A B c D
3 4 1 2
A B C D
2 1 4 3
A B C D
3 1 4 2

gs. Frafafian # @ i Rl & d@gmen
yaifim 3 aEEfEwE aE s R0

N

s Rl # s % At #
WS FYa Jren 99 ferar

T &t s A gEEfEE O
S s ot oo wgam B
T FY T W AR R

ufe &1 3w ol ot ww R
W Ik fom % waew
s = g

A I W wEya w9
yWEAEE T, AR % S
wggn #, % fofs oo @en
it R

#= Ry W g = oW W oaf Iw

g
e
(@ 1,234
(b) 1, 334
() Fa@ 3 34
(d) ¥ae 133
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89, Decision in which one of the

following cases has been described
by the Supreme Court to have
attained the status of a landmark
for bringing out correct tests
for application of Section 300(3) of
the IPC?

fa) Kapur Singh vs.'State of Pepsu
(b) Virsa Singh vs. State of Punjab

fe) K. M. Nanavati vs. State of
Maharashtra

{d) Rawal Penta Venkalu vs. State
of Hyderabad

90. Which one of the following facts

constitutes a Contingent Contract?

(a) A contracts to pay BRs 10,000
if B's house is burnt

(b) Where a salt lake was offered
by way of lease on deposit of
a sum of money within a
specified period

fe) Acceptance of a tender for
up to 1000 tons of coal to be
supplied as and when any
order is placed during the
financial year

(d) When a bank offers a locker to
its customer subject to the
condition that the customer
makes a fixed deposit of rupees
one lac with the bank before
the end of the month
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91. In which one of the following cases

was it laid down that presidential
proclamation dissolving a State
Legislative Assembly is subject to
judicial review?

fa) Arun vs. Union of India
(b) S.R.Bommaivs. Union of India
fe} A. K. Roy vs. Union of India

(d) State of Rajasthan vs. Union of
India

92. Universal Declaration of Human

Rights, 1948 contains provisions

relating to

fa) econceptualization of Human
Rights

(b) operationalization of Human
Rights

fc} establishment of Human
Rights Institutions

(d) establishment of Human
Rights Committee

93. Which of the following statements

relating to the tort of conspiracy
is/are correct?

1. It consists of an agreement.

2., It consists of forming a
combination with the purpose

of causing damage.

3. Damage suffered by the
plaintiff must be proved.

4. The gist of conspiracy in tort is
an agreement alone,

Select the correct answer using the

code given below :

Code :

fa) 1 and 2

(b} 2 and 3

fc) 3 only

(d 2 and 4




89, Fafafas 4 A few v aw % fafea =
T e g uE afffa e omn @
& 38 IPC 1 U@ 300(3) F ITEEM
F fom wh ofeei w1 "R F R
g e ww et 27

(a) T fag wam T U5
(b Tam faw = m 9emE U
(c) o UHo THEH! I WEWIE U

(d) TEE Y21 Avhe] FAH REUATE U

90. Frafafas # ¥ F-w v aw gubm
afazr Afifs = 27

@) A, BH, B® W w& WM i Fufa
# 10,000 ¥ &1 F4 H HiEG
A B

(b) ¥& Wz o % fafifde safy &
a2 W et e R WA
e fin B

c) Tadm =f & doa w3 ot it 5
e wega R e 1000 & @
#raen i w1 & P # =ie

(d) ¥ &F 391 UTEE F UH SAe W
7 & i 33 = e o §
uTEE AR I gEith 4 O &% % vw
U FE F T WA 6w

N-DTQ-K-NCY/10A

91, Froftifias @ & fow & a= % =®

wifyslaa forn T 7 weufa 1 o= @)
fum w F o FE g =il

gafdeia & sendi 27

fa) 3E TAH WA TG

(b) THo 3o AW M WHd HY
fc) Te %o Uy M WA ¥Y

(d) TEREH T TH T 6

92. urFa sftmrl $ fHesmd g, 1948 #

it wefra Ivary R7

fa) WHE AR F TEHeTn-FEmm
(b) WA e w1 - Fi
fe) AFE iR des ) g
(d) wa FfumR afifn £ =

93, WU F e # wafu Frafafea 4 9

-1 /8 w97 v B/ET
1. 4E w8 a0 g1

2. TE [HEH FE ®H F WeE |
W= 9H § w1 3

3. 9 T | T 3EEA R E
# =i

4. WR F EA @ A | 98w
il

9 g M ow W owm w1 IW
g -

F2

fa) 1 32

(b) 233

fc) Fa€3

(d) 23R4
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94. X inflicted as many as 19 injuries on
the arms and legs of ¥ with a
gandasa, resulting in multiple
fractures on arms and legs and also
profuse bleedings. The injuries
cumulatively caused the death of Y.
X is tried for the offence of murder
u/s 302 of the IPC. Determine the
criminal liability of X from the
alternatives given below

fa) Since X inflicted injuries only
on non-vital parts of the body,
hence he could not be
attributed with intention to kill
and therefore, cannot be held
guilty of the offence of murder
but only of culpable homicide
not amounting to murder

(b) Ewven though the accused did
not have the intention to cause
death but, nonetheless, he had
intention to cause the injuries
on the body of ¥ and the
injuries so caused were
thereby cumulatively sufficient
to cause death in the ordinary
course of nature and so his
case falls under Section 300

fe) Since injuries were only on
non-vital parts of the body, and
there was no intention to cause
death, the accused is liable
only to be punished for the
offence of voluntarily causing
grievous hurt by dangerous
weapon

fd) The liability of X can at best be
causing death by rash act
not amounting to culpable
homicide
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95. In which one of the following cases,

a contract becomes wvoid on

the ground of subsequent
impossibility?

fa) A agreed to supply certain
quantity of Basmati rice to Bin
the month of December, 2000.
However, due to deficient
monsoon rains in 2009, the
prices of Basmati rice
skyrocketed making it difficult
for A to supply rice at the
agreed price except at heavy
losses

(b) A agreed to supply B certain
quantity of fabric at specified
rate manufactured by AB Mills.
However, due to indefinite
workers' strike in the mill, A
failed to supply the fabric to B

fe}] A contracts to act at a theatre
for six months in consideration
of a sum paid in advance by B.
On several occasions A is too
ill to act

fd) A agreed to supply ten tons
of sugar to B at a rate of
Rs 20 per kg. However, due to
non-availability of adequate
stock of sugar in the local
market, A failed to supply

sugar




94, X 7 v @& yenait 3 T W feR @
wehlie wdre el ofard fors afom-
ey e gt el 2 W aglnin
3w sreafter thwE g3 fodl & Wl
wE @ Y # gg @ ) X w PC H
um 302 % anfia gen & sy & foay
foramm frn wan | Prferfias et 4 @
X ¥ smufis af # Paffe Hit

(@) ifE X 3 wit & wi o | Bm
it W # afeal F a@: 3gw e
# AWE @ A W wEm iR
wafe 38 gen F e w1 S T
FEA W Tehel dfoh hael Bl il
Fift & 7 3R T FAwOiks qE
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(b) ¥ & s 1 gy Fife = w®
v A @ S T oft 3E v
F wit m =y wife s =1 3w
a1 3t W R wiw ahel 7195
W R & wewe SgEE A g
#ifa w F fou gt ¥9 & win
ff e I@F AWEn 9@ 300 F
apft s &

c) <% afeal Fae vl & wi it |
fim it w off 3l o wfE =@
1 #f v G W I AP
Faa H=91 ¥ EaEE T T U
gl e w3 & sww & o
#fTea fipn o & fro arh @

d) x # zRem =fim ¥ =fiE

WY F F0 g FRa H
&1, @ safus wAE @y ) w2 q

Tt ®, § w5 @
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95. fefofan & @ fm o ar A, yaraad
SrerEa % s g e I A e

()

(b)

fe)

(d)

A, Remr, 2000 wE & B #
At 9w A uF Fifdm w6
9 % & T wem @ ¥ aanfy,
2009 # =E wWAgs @ui F w0,
arandt Srae 6 Five e 95
fomd A % o 3w 9m=a 6, genfa
#1 Fmg w, fEm ol gFeE 3a,
off =0 *fE &

A, AB fora g ffifs ¥98 6t 79
fflm wren fffe w w B =1 9
w0 % fow wewa g R awf,
frm # wmma @ afifsEee
¥2are & WU A, B # 98 #i
o & # fawer wa &

A, B wfim g 6 0§ ufh %
iﬂéﬁa:m%h%ﬁiﬂﬁ
e &0 ¥ fo d@fag @ R
IF FEE0 W A T S T
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A, BH 20 %o ufd fe me it @
# zg = o A o =3 % f
wend g &1 Ay, el e |
o w1 qafn w2 F e & @,
A <IFft i gfif st w aren
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96. Consider the following statements

about the residuary powers of the
legislations :

1. The Parliament has exclusive
power to make any law with
respect to any matter not
enumerated in List [T or List [I1.

2. State Legislatures have
exclusive power to make any
law with respect to any matter
enumerated in List II.

3. The Parliament as well as State
Legislatures have exclusive
power to make any law with
respect to any matter not
enumerated in List Il or List I11.

Which of the statements given
above is/are correct?

fa) 1 and 2
(b) 1 only

() 2 only

{d) 1 and 3

97. The statement “King is dead, long

live the king" denotes that the
king is

fa) a natural person
{b) a corporation sole
fe) & corporation aggregate

(d) not a legal person, but a
position only
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98. What is the effect of a State Party

making a declaration under the
Optional Clause of the Statute of
the International Court of Justice
(ICJ) [Article 36(2)]?

(a) Individuals can file cases in
the ICJ against that State

(b) States which have accepted the
jurisdiction of the ICJ can file
cases against that State on the
basis of reciprocity

(¢) The State would have an option
to continue as a party to the
Statute of the ICJ

(d) The State allows all the other
States to file any case in the
ICJ against itself

99. Which of the following defences in

an action for tort of nuisance are
ineffectual defences?

1. Public good
Statutory authority
Nuisance due to acts of others

i A

Reasonable care

Select the correct answer using the
code given below :

Code :

fa) 2 and 3
f(b) 1, 2 and 4
fef 1,3 and 4

(d) 2 and 4 anly
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96. fauri H wafie
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Frferfan wut w fomm Fifsw .

1.
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(b) FHaEE 1

(e) a@ 2

(d) 133
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(a) T Wi =l 2
(b) T fm A B

(c) v wwie fFom 2
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R
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100. Match List-1 with List-Il and select 101. Hazardous activities that attract

the correct answer using the code absolute liability are those
given below the Lists : activities, which are
List-T List-1T
(@) prohibited by law being
A, Aand B go to murder 1. Mistake of dangerous to the society
X under a common fact in
understanding. A stood good faith
as a guard near the (b} permitted by law for the sake of
gate and B stabs X social utility
B. A Police Officer 2. Criminal
received a warrant to misappro- fe) tolerated on condition that
arrest X believing Y priation they pay regardless of any fault
to be X, he arrests Y
C. X, a Hindu, divorced 3. Joint (d) permitted with statutory safety
his wife and refused liability measures

to return her money,
clothes and ornaments
despite her repeated

demands 102. When any provision of a law made
by th ¢ y
D. A finds & gold ring on 4. Criminal i s e
a railway platform. He breach of gra y provi

made by the Parliament, which the
Parliament is competent to enact,
the law made by the

picked it. Instead of trust
returning to the
Railway Authorities,

he sold it immediately
fa) State Legislature shall prevail
Code :
(b) Parliament shall prevail if it is
made after the law made by the
I R Iy, P State Legislature

(b A 8. € Db fc) Parliament  shall prevail
3 1 4 2 whether passed before or after
the law made by the State
fe) A B c D Legislature
2 1 4 3

(d} Parliament shall prevail if it is
fd) A B e D made prior to the law made by
the State Legislature

(5]
&
—
W
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100. Tl #t g&f-n & gafea i o

i & A= faw o g2z 1 owEm w= oAl
Wﬁﬁ"{:
HEI-1 =11
A B A FE 1. g d
awd X & T w3 W aw @it ¥

Bl AR & uw g &
®q ¥ mer T #R B3
X @ 394 T

. Pt ofee st 3 X 2. i
#! firwm w0 1 an= gfafm
W R 9 Y& X

9 @ faam =y #
fimgam & o ¥

. X, W 6 R R, aelt
vl # Fan-f=tr =
I, IgF TH-AN HH T
Wt 3u% w0, aW 3R
YT T whery)

. A TR wEEH WU 4, U
|1 £ i it s TR

3. ugw wfies

3 331 T @ =A
wftrmft & aae &
& g9 39 W g 9
&
T
@ A B C D
3 4 1 2
b A B C D
3 1 4 2
g A B C D
2 1 4 3
fd] A B C D
2 4 1 3
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101, s fFamsam o awfes ofiea =

senita s &, % Bramwe &,

(o) = % fow =aens @9 @ Rl
g wfaftg @

(b) wtew It F fou ffb g
ST R

() ¥ ¥ T wea e o @ 6 aw,

et 3R w wm o fm, yee
= ¥

(d) T B 30 & Ee ST R

102, #f* et vsg & faurmves g a o

faft &1 %1 3wy dwg gm0 ¥ 7 Fafw
#, it dug sfufafie 0 & fo aam
2, feelt aveu & R 8, @

fa) W & Frarmues g g
wftrreht g0t

(b) wag T w4 7 fafy sfinEh wh
aft o vsn & faewves gro
é faftr & o= & ==rd md &

(c) wag T 7w fafy s doft
¢ 98 U9 & feamEmues g0 W
mé fafy @ v 71 39F ar § wfm
D

(d) g g @d 8 fafy st oft
R 78 us & TaEmves g =
i fafe & e wd vk B
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103. Which one of the following Statutes
has no Preamble?

(a)

(b)

fc)
(d)

The Government of India
Act, 1919

The Government of India
Act, 1935

The Constitution of Pakdstan

The Constitution of Switzerland

104. Match List-l with List-Il and select
the correct answer using the code
given below the Lists :

List-I List-IT
(Theory) (Key to the theory)
A. Theory of 1. Some groups are
Enterprise treated as if they
Entity are persons
B. Fiction Theory 2. Utilitarian
C. Concession 3. Juristic persons
Theory are creation of
arbitrary rules of
procedure
D. Hohfeld’s 4. Identification of
Theory law with State
Code :
fa) A B C D
3 1 2
W A B € D
2 4 1 3
fe)] A B C D
2 1 4 3
@) T By G D
3 1 4 2

N-DTQ-K-NCY/10A

105. Which one of the following human
rights instruments does not contain
mechanisms to implement human
rights enumerated therein?

fa) International Covenant on Civil
and Political Rights, 1966

fb) International Covenant on
Economic, Social and Cultural
Rights, 1966

fc) Universal Declaration of
Human Rights, 1948

(d) UN Convention on the Rights of
the Child, 1989

106. The pardoning power of the
President under Article 72 of the

Constitution of India can be
exercised

fa) only after the trial and on
conviction

{b) either before or after the trial
but never during the trial of the
case

fe) during or after the trial but
never before the trial

fd) at any time before, during or
after the trial




103, Frafefean § & fre uF we@E 6 105, fefofem & & frm w o siftsr
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(c) Tammw & 4w @ am #, fg
A B C D
& 2 & 9 9 faamm ¥ qeet =it 9, wyw f .
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d A B C D ae & el oft o, wme f .
3 1 4 2 At ¥
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107. Consider the following statements :

1. To bring an action for damages
in respect of a public nuisance
by a private individual, the
injury must be direct and not
merely consequential.

2. Private nuisance may be with
respect to property or personal
physical discomfort.

Which of the statements given
above isfare correct?

(a) 1 only

(b) 2 only

fe) Both 1 and 2
(d) Neither 1 nor 2

108. A, a resident of Chennai, is an agent
for B, a resident of Delhi. There is
an express contract between them
that all sums remitted by Bto A will
be invested by A in accordance with
B’s direction. B remits Rs 5 lacs to
A with the direction that it be
invested in buying shares of X
company. A instead invests the
same in buying shares of Y
company believing in good faith
that this will fetch more profit to B
than investing the money in X
company as directed by B. B suffers
loss, because the value of shares of
Y company declines. A is liable

fa) for criminal misappropriation
of property as B suffers loss,
because A has disobeyed B's
directions

(b) for criminal breach of trust as
B had entrusted the money to
A and A had invested it in
violation of B's directions
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{c} for theft as wrongful loss has
been caused by A to B

({d] to face a civil action by B
on account of the loss suffered
by B

109, A, a trader, leaves goods at B's house

by mistake, B treats the goods as
his own and consumes them.
Which one of the following
propositions would govern their
relationship?

fa) Bis not liable to pay as he had
not placed any order for
the goods, There was thus
no contractual relationship
between A and B

(b) Bis liable to pay for the goods,
as there was an implied
contract between A and B

(c) A cannot take advantage of his
own wrong and therefore,
cannot recover the price of the
goods

(d B would be liable to
compensate A as A had not
delivered the goods intending
to do so gratuitously and B had
enjoyed the benefit thereof




107. F=fafEs wuat w fFEw fifo .
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108. <7 = Fandh A, B & fawh B & o
Hiveaf ®1 3% = 78 Al ofde @
fFBgu A= 9 ol ww B &
fEmgan A g fifte 6t soft B ole
o Y A # o3 FRn % w e
f& e x woFl F 99 w5 afer 7
R e s A o R yesh &
Tl wled #d e PR s
# 7% fm w0 g H d R B B Ew
i X =l 4 o9 = FEw w0
#I e T8 B = st e @ B
# qHAE B W R WiE Y e ¥
U w1 g N R S 81 A s g
et 7
fa) wwafa % smofius gfifan & o,
wif% A & g0 B 71 9 3 v
& WAV B # JHEH ISHT 951

b) sfE e & o, w0 B3
@A A % |t off 3fit A 3 5@ B
& fEel % g =@ w fdm
fn
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() <t & fom, w6 A g0 B A
wem v wifa ft v 2

(d) B M 3B T JHER F S0, B
T 6 78 fofte wiad = ww
4 & fom

109. TF WA A 3 Terdt @ B ¥ WOW 5

ame @ B 3 wmm W s
WA I = fem) Fosfefea 8 @
#-d1 w whoem % @ &)
fafrafe stfi?

@) B wwan w3 % fow el off B
wifE 39 Al F R w1 ke
T R @1 el A s B F ¥
1 wfaErers g 4 8

(b) BwwE F fou wam =3 % fm
Tt & Wi A 3w B & dm
faarftrm wfer o

fe) A %t ge A et w1 oo Al
] wEa IR Wi awE R
=i T AgE v

(d) B, A% ufts +@ F fog weft B
FifE A A wwEl B 3R Rages 3
% s 8 uigs 48 e w s
B9 39 w1 331 9
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110. Consider the following statements
with regard to protection in respect
of conviction for offerices :

1. In the case of Sampath Kumar
vs. Enforcement Directorate,
Madras, it was held that it is
unconstitutional to give a
caution to speak the truth.

2. No person shall be prosecuted
and punished for the same
offence more than once.

3. No person accused of any
offence shall be compelled to
be a witness against himself.

4, Criminal law in India can be
enacted retrospectively,

Which of the statements given
above is/are correct?

(@ 1,2 and 4
(b) 2, 3 and 4

¢/ 2 and 3 only

[d) 3 only

111. Which of the following statements
is/are correct with reference to the
concept of ownership?

1. When the subject matter of the
ownership is a physical object,
it is incorporeal ownership.

2, Corporeal ownership refers to
owning of rights as opposed to
physical objects.

3. When the owner's title is
perfect, it is called wvested
ownership,

N-DTQ-K-NCY/10A

Select the correct answer using the
code given below :

Code :
fa) 1, 2 and 3
fb) 2 and 3 enly

fc) 1 and 2 only

(d) 3 only

112. Which one of the following human

rights instruments Empowers
individuals aggrieved of viclation of
rights to file petition in the Human
Rights Committee?

fa) International Covenant on Civil
and Political Rights, 1966

(b) International Covenant on
Economie, Social and Cultural
Rights, 1966

() Optional Protocol 1 of the
International Covenant on Civil
and Political Rights, 1966

(d) Universal Declaration of
Human Rights, 1948

113. The assertion “What cannot be done

directly eannot be done indirectly”
refers to the doctrine of

fa) Colourable Legislation
(b} Pith and Substance
fe) Severability

{d) Waiver




110. Huadl & fou Smfafe & oy F afem
F an o Fofefen s w fsm
#Hifsm

1. ®Wd N #4H YEdq e,
I % ar d 9w siffaeifm e
T 9 T e den & T S
¥ srwifaaiE 2

2. w% oft = = @ 3w F fau
w an d e afmifm v
=ivea 7 faemn smom

3. faeht sy d sfimgs R of =fs
# 3 @ T welt 99 & fon
are 8 =\

4. wrd # aofes fafa 5 ymeef
Fiufrafim fr s g% 8

I el § A A-w/d ad B8

@ 1,234

(b) 2, 33M4

fc) #aw 2 33

(d) Fa 3

111. =g & gHeu & gy ° Pl 4
| BH-|1/3 FuF wh B/

1. aft =fim 6t Gy odfts g
®, @ 7 s wnfim ¥

2. i @i, ofifrs awget & aw
favg, sfisnl =1 @wfi|m @ =
faffe = 24

3. IR =l = = ol &, A @ Pl
@it e st 2
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57

fw fy m F2 = oW W o W
g

e :

fa) 1,233

(b) @ 2 3w 3

(c) Faw 1 32

(d) a3

112, frafsfias & @ f9-w w aFm 3R

s, st & s @ st
sl 9w st wR
e %t ) 7 27

fa) TafEm o owdfes sfimnl w
HidE wHiaEl, 1966

(b) snfdw, wenfww R Gl
st W s=idia wefiE, 1966

fe) faffm st e aftenl w
Figta wEfE, 1966 #1 i
AHER |

(d) wFE iR 6 et don,
1948

113. & P, 'S vama: T B s

uEdAl I owemwa: oft T fEmr s
wwm |, few fagrs = Bffe s 37

fa) ¥mart fum
(b) w3 T

fe) gaEwiEa
(d) St
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114. Which one of the following is not
an essential element in a suit for
damages for malicious prosecution?

fa) The plaintiff was prosecuted by
the defendant

(b} The proceedings terminated in
favour of the defendant

fcf The defendant acted mali-
ciously and not with a mere
intention of carrying the law
into effect

fd) The plaintiff suffered damage
as a result of the prosecution

115. As a general principle of Law of
Contract, which one of the following
is mot an essential of a walid
contract?

fa) Writing

(b) Competency to contract

fc) Lawful consideration and
lawful object

(d} Free consent

N-DTQ-K-NCY/10A

116. To constitute false imprisonment

1.
2.

the detention must be unlawful

the period for which detention
continues is material

the period for which detention
continues is immaterial

the knowledge of the plaintiff
about his detention is material

Select the correct answer using the
code given below :

Code :

(a)
(b)
fc)
fd)

1 and 2
2 and 4

1 and 3

3 only

117. Law of preventive detention can
provide for detention of any person

(@)

(b)

(c)

(d)

at any time during peace or
war irrespective of the fact
whether  proclamation of
emergency has or has not been
made

only when a proclamation of
internal emergency is made

only when a proclamation of
national emergency is made

only when India is at war with
any country




I O . o

114, Fraforfias # @ #=-a1 1 dogel sfisism 116, 3y gty ) nfaa =@ & fay
Eal & 918 H EEE ?
TN ol ¥ 1 i Ritfe f @ it
2. foorh smfu & fom i st e
fa) aE =1 wfrEdE go sfigse fen o8 WA 2
T
3, fowht safy & fom frde =t e B
T8 W TE 2
(b) Friardl ufemrd & var & whafte g 4. @ W ek Pim & it # 9E
LUcic
(c) wieardt 3 gugds wd R o fafy 3
& yE | o # o uE 8 w6 aﬁ:ﬂw!ﬁmuﬁﬂmnﬁm
7t fm '
L T
(@) #fiism & oftomresy & =) fa) 132
T Jart gt
(b) 234
fe) 133
(d) WeEe 3
118, W BR * woae Rern & W @ 117. Pars fiiw 6 fafy G =f F B
frefafes # @ *F-@ = Rt -
wieE & fer s off 87 (@) WA @1 Iz we & Fed o w,

W on ¥ Py & sm &
g ) nE R @ Al A ond R,

(@) @ T = R
(b) Waw W IEM T EEA § W
(b) wfEr % fore wapm st armara 41 Igeon & 0d R
c) Fae oft e = awdl 2 W=
" i o et sure i IgEmo 6 R
(d) ¥&@ o Iy = oEwd B W
v el 2w & wm gq & &k d
(d) a3 wefd 3
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118, Which of the following statements as

per the Constitution of India is/are
correct?

1. The State shall endeavour to
provide early childhood care
and education for all children
until they complete the age of
6 years.

2. It is a fundamental duty
of every citizen who is the
parent or guardian to provide
opportunities for education to
his child or, as the case
may be, ward between the age
of 6 to 14 years.

3. State shall provide free and
compulsory education to all
children up to the age of

14 years.

Select the correct answer using the
code given below :

Code :
(a) 1 and 2 only
(b) 2 and 3 only

fc) 1 only

fd) 1,2 and 3

119. Which of the following statements

with respect to Right to Know is/are

correct?

1.  Right to Know in India can be
traced to Article 19 of the
Constitution of India.

2. In Dinesh Trivedi vs. Union of
India case, it was held that the
citizens have absolute right to
know about affairs of the
government.
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Select the correct answer using the
code given below :

Code :
(@) 1 only
(b) 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2

120. Which of the following statements

is/are correct in connection with

malicious prosecution?

1. Malice is to be inferred from
the acquittal of the plaintiff.

2. Malice is not to be inferred
from the acquittal of the
plaintiff.

3. The plaintif must prove
independently of the acquittal
that his prosecution was
without reasonable and
probable cause.

4. The plaintiff is not required to
prove that his prosecution
was without reasonable and
probable cause.

Select the correct answer using the
code given below :

Code :

fa) 3 only

(b) 2 and 3
fe} 2 and 4

(d) 1 and 4




118, Wi & HfawW & agan, Frafafes 4 4
FH-91/ wa7 vt §/87

1. T el areaEen @ ot a=

®1, 3F 6 a0 hit 3y 7 FA 7,

I Fw-ta v§ e =R oW
TATH & |

2. W W TAF AN &, &
wrar-fean a1 sfinaas R, q@ wde
? T T 3 == o wfew, S
ft &1, #1 6/ 14 af H g o
fare a3 % =@ ww W)

3. = 8l w=1 W 14 9 @F &
g o g 3R sfEe S am
AT |

M Ry M g W owEm o oE I
gfi

¥ :
() FAa 1 3 2
(b) A 2 3 3
fc) e 1
(@ 1,233

119. 94 F wfywn & g= § fefafam 4 2
HH-T1/8 w99 wa 8/E7

1. WA § 994 &% sfasR F Wi &

fvm F sigsde 19 & Eifem
o = wa B

2. Torm FEd =m wim |9 % g #
e sfufufm fFn mn fe A
H W g F W # 9w
SAfTm R
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IR R o # = W@ =g Iwm
T ;

5

(a
(b)
fc)
(cl)

a4 1

*ad 2

1 3l 2 96
a@M1smad2

120. Pl sfimsm & g § frafofas §
A w8 e o /87

.

T8 & dwge § 93 A Ry W
HAA T S #

T % dge 5 99 | Ry W
WA FE I S |

! F1 daes B9 ¥ wEeE w9 9 9
o w=m g B e it
f Bft gfegs @ sftmearsn
FU | FIN @1

Tl w7 foe ¥ f sEwawa
T8 & 6 3mw afigiem fn fedt
Iferge 1 AfiErarer WO @ g
7|

R faw g W owm W owd I
g

%2

(a)
(b)
(c)
(d)

a3
233
2 3 4
13 4

[P.T.O.
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Wa W IUE! A% Uiteror g WiE w T wE W AW A T e

.t : N-DTQ-K-NCY wigro giem sw
i PPY .
gdreror gieaent A
fafy
wHY : ) v quii® : 300
agw

1. ufign wrew #1 % qow W, W §W whyw gt € ggare sava W @ R g s e oom, e
1 g2 ¥ YE sl wEiw s 7 9 alR v R, @ 5@ wdt ohew giees @ wme sl

2. Im-vEs § vt T w gitew gfeen s A, B, C o1 D awmferf v v @ feag Hifw)

3. W viam e w Wy § fg o wew § amw s
FgEarE fom §1 ofe g w s ge A fod

4. wu iaw g # 120 wwam (vw) Ry m § sEs v G sl sieh 36 3 o ) wels we
an weage (sw) oo &) g @ v v w9 &, Bl o seos wo st e el §) ol s
e ot B o A wfes s WA B, 6 9w ) s w S s el w0 wes wein & feg
e v f e o R

5. soE A ot yepm wem @ By o Im-ws w R it @ 3 smewes | R o R A

6. @il ywEm % 3% w9 §

7. 7R R 5 wm view gfee & fftm se & gsam owews W iR S gE S AW W@
- % ww e apl % smen 3o e s 0 3R

B. 3| 393 Wit WgEl W IW-TIF A Wi F AR a9 vie F W © FEe Iw-uas ades ® de #)
R A9 ww whem gfEE @ we R sl B

9. = wm ¥ Fw ww viww g F w4 wem §)

10, wom Iwi & oo T
afte wwA-wat & efigan g R T wew s & o gve B

(i) weirw wwe % o wm AwFs 3w 8| InfEn oo ves v F T R e v em g # fo we g
e fen mu 3 = vw-foerd (0-33) wE & W v S

(ii) o *r§ 3ofrean ww A afte 30 3 &, @ Tew T A o, Tl R om el § 8 s o
wim B, fm oft 8 v % fom avdegem f ol we = o R s

(i) =fd Fefieam g v we o R s & sy aniean go 3w s B, @ e oW § B
=i 7oz ft R =

W W AIH! AR Titen gies Wi w3 wE WG T e A S

Note : English version of the instructions is printed on the front cover of this Booklet.




